
The Binomial Theorem
(and Pascal’s Triangle) Lesson 9.5



Observations



The Binomial Theorem



Find the Binomial Coefficients

1. 10C5

2. 8
2

3. 12C4

4. 12C8

nCr =
𝑛!

𝑛−𝑟 !𝑟!



Pascal’s Triangle

1

1 1

1     2     1

1 3     3     1

1     4     6     4     1

1     5     10     10     5     1



Find the expansion of (x + 2)4.

(x + 2)4 =  𝑟=0
4

4𝐶𝑟𝑥
4−𝑟2𝑟



Find the expansion of (3x – y)4.

(3x - y)4 =



Find the coefficient of x8 in the expansion of 
(x2 + 2)12.



Find the fifth term of the expansion of 
(2x – 3y)10.



Section 9.5 p. 649; 19-34 x 3's, 45-60 x 3's


